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Algebra 1 - Semester 2 Exam Review

Ch. 5 - Graphing Linear Equations 6 Tell whether the lines for each pair of equations are
parallel, perpendzcular or neither.
1 A student finds the slope of the lme between (16, —x+4y=-16 2 4l \

+X < = L‘

2) and (20, 7). She wntes 2 16 What mistake ty=x-\¢
. A Y
did she make? ’
_ T —Y4=%5-4
A& f_}:;;f::y values where she-should have used 7 Write an equation in slope-intercept form for the
) ' line perpendicular to y = 3x — 8 that pas
B She should have added the values, not . wmz3 —>3(m-=-1
subtracted them. the point (9, ~8). 2 3
She did not keep the order of the points the -g= 'JB'(Q) +* L
same in numerator and the denominator. e

: +b
D  She mixed up the x- and y-values. m

8 The grocery store sells kumquats-fer-$4-25 a pound

2 Find the slope of the line. ' and Asian pears for $4.00 a pound. Write an
17 equation in standard form for the weights of
kumquats & and Asian pears p that a customer

could buy wit] 7
34.25K + $p = 9

Chapter 6 - Systems of Equations

Graph the system of equations and tell whether
there is no solution, one solution, or infinitely many
solutions.

y=-5x+t4 — @

y=-5x+5 —

b 4 & d

4 Write the equation of the line with a slope of 3 that
passes through the point (2, —4)

T i 8\

[\ P P
e

9

5 Write an equation in SIOpe-interc%pt form for the
line that passes through (6, 4) and (5, 7). \\
M - ‘3 j '\ "‘ 3 3 - 3 v

b-32 | 5€°

' H=-3(6) ¥D
@ i} Ba

22.=%
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10 Tell whether the ordered pair (5, -2) is a solution 15 Solve the system of equations using the method of

£t 3x-2y= 19 your choice.
R n (W Sx-3y=-16 2 Xby2-> 10 x ~ = ~3%
3(s)v22) = a -3(s) + () =" xi2y=—4 = xby3 2, 1A%+ by =1L

\S + ..\q -\S x ~ _':._H
A @(—\3--§\ e T R (B0

Ix+y=95 +3 ? @
11 Sol by using substitution. Express The IE un Guys game renfal srges an annua

fee of $10 plus $6.50 per game rented)The Game
Bank charges an annual fee of $34 plus $4.50 per
game. For how many game rentals will the cost be
the same at both stores? What is that cost?

810 5D X = ¥34 U SOK
-.56%
o Fax =340 12
5 4 ‘Lq ‘%3-\-0 l-\

17 Janice’s Jelly Donut Store hg $2500jn expenses]

each month plus it costs $2 per dozen bonuts to
make them. She sells donuts for 7 per dozen) How

many dozen must she sell each month to break

even‘als%_l_dlx — ;-1_K
AKX -2.K

5.':500—-?_ S
500dendndtE=x
18 Thejsum of two numbers 15ﬂ Their difference is

—t
14. Write a system of equations that describes this
#mnatlo situation. Solve by elimination to find the two

numbers.
/)(-I—lj:_l"\
"I
7

by usmge
$Tx+4y =45 &~ (mu

Express your answer as an ordered pair.
E % =~ ‘J
3

1 ¥t -\,> A +y=
- =- 7- \ -blﬂ H ot
@ 19 Sharon has some one-dollar bills and sorr@ﬂ =30 )
five-dollar bills. She has 14 billsThe value of the
14 Solve the system of equanons using the method of bills is $30. Solve a system of equations using
)’OUY choice. ‘ elimination to find how many of each kind of bill
3x + 7 she has.
Muft byt > *K
n-{ %+ 5 3x+1) /1 \Q
- 3 A )

10, #L\ills

—'1
5 " "{, Hhills

Y= 3(‘0*

...lﬂ-.f"]
?j:\o\
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20

21

22

23

24

25

26

27

28

29

30

Chapter 7 - Exponents

Simplify 27

Evaluate a 25° fora = -3 -

-7
SHE]
0y
Simplify = a ?__?
¥
J
Simplify m® -y° -m’.
Simplify (x’ )’ ) _5‘_-_ |
7( x = 7(5!.
Slmp]lfy (m*n)* (~ m‘3n3) 2
mi’

S. [.@ y z .
lmpl 7—.
(02

34 s
Simplify [ 2 . '2'
’nt

Simplify ’ ) (x7)? iy
Koy =

Simplify (-5g°h®)*(g*h*)*
3101_‘:1. H.h

Which function is greater at the given value?
y=20ory=x"atx=9

4=2" =T

-

31 Suppose the population of a town is 2,700 and is

growing 4% each year.

a. Write an equation to model the population

s @oo(t.oq)f)

b. Predict the population after lzlyears
2,100 (v od)=

(4,522 o« 4,323)

32 Find the balance in the account.

$2,400 principal earning 2%, compounded

annually, after 7 years

421400 (1.67)’

33 Graph the equation by making a table.
y=2

sl\y f x : L
117 AL RS
5 —= h & -_:2
T (| %4,
¢ 5 A; 1y . 2 3 3 ; O 1 : 2\
: 12 Sk
M =7
- -4
34 Graph the equation by making a table.
y=-2-3
Ty
T XY
St -2 |-%
: -1 -5
¢ i l N O "j"
B LILIEAFaLG 3 PHHEE I -%
5 11
P z i"'\g
W
!

Scanned by CamScanner



35

36

37

38

39

40

41

42

Ch. 8 - Polynomials

Write the polynomial in standard form. Then name
the polynomial based on its degree and number of
terms. 2—11x?—8x+6x2

-5x-8K v 2
Dea 3 Auad( -&-‘i €
Term: T;'mm\'ﬂ—\.

Write the polynomial in standard form. Then give
the leading coefficient.

-10x3 XA+ x?—5x5 410
(55 12X 1oy e 2K T

€s)

Simplify each sum or difference.
(4d* +d) +(d* +7d* -])
3
5d% ed™ |

Simplify each sum or difference; -
(8w + 4w +4) + (6w? + 3w 4 3)

Simplify each sum or difference.
(B> x4 Th° +Tp° +2)
(2b°-3b*+2)

Find the product.
8 - —

_adp?+HTp - /é»f’)

4ab (64 - 26) )
240t -Babbh”

(4@)
20K~ P Ky

+35% -2\

@’:} 23% -2.0)

Mult Yhe C.aw}.

43 (2n+2)(2n-2
@v £.ok7
pesked ea0s.

44
45

46

X

X

X

y
r o
Ax*- 18K ARTEX3S
(5x-3)(x’ - 5x+2)
SA1-25K" \g‘x :

-~y FioxX —e
(S3m- 267+ 1K)
(2x-6)

@_1‘-{%4—%@

Factor the polynomial.
rt—36

Factor the polynomial.
1652 - 81

The length of a rectangle is 3x —4. The area is
6x” —2x —8. What is the other side length?
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